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was so _________when it was discovered just how much scheme

would cost. A. released B. desert C. resigned D. abandoned2. There

are _________supplies of firewood in the forest. A. plentiful B.

abundant 来源：www.examda.comC. plenty of D. many 3. It has

been revealed that some government leaders ________ there

authority and position to get illegal profits for them. A. employ B.

take C. abuse D. overtook4. Their political action ___the fall of the

government. A. promoted B. accelerated C. hastened D. advanced5.

Over a third of the population was estimated to have no ___to the

health service. A . assessment B. assignment C. expectation D .

access6. The people living in these apartments have free________ to

that swimming pool A. access B. excess C. excursion D. recreation7.

I’d _________his reputations with other farmers and business

people in the community, and then make a decision about whether

or not approve a loan. A. take into account B. account for C. make

up for D. make out8. _________energy must be released in one

form or another, for example, an earthquake . A. Gathered B

Collected C. Accumulated D .Assembled9. Missiles are now more

________ than ever .it can hit a target within 20 metres . A .exact B.

accurate 来源：www.examda.comC. correct D. definite10. The

soldier was ________of running away when the enemy attacked . A.

scolded B. charged C. accused D. punished 100Test 下载频道开通
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